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(1) Cljaeck the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams

LGS - 1/ PART - I
WIS 6anéseméE L0 cfleLwiefssmeyn.

Answer all the questions,

Ch.oose the n}ost appropriate answey from the o:
write the option code and the col'reSpondin € given four alternatives and
& answer.
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Jed®

\ . A { .
1. @it ?”;"\aﬂﬂlﬂ‘ 6‘6\3".‘&, ‘¢ (%) LIMTeV qg{ &n(y)@@_j@b&m
wrd ? N of ]
, _ ) <pLLd evLblG
(«®) s wrrdHe -u(Of Wealth” ?
iont
(@) wn&eb mamm ll“ 5t (b) Paul A. Samuelson

Adam Smith

Wha defined “Economic® © (d)
(a)  Karl Marx
(¢)  Max Muller

o

vwetun(® eratugl wﬂ”” o
(<) uTLmisafler Quordd FEHTEN eSl(mLILID

(<) uRTL_RISET m?ﬂy@ul‘: LTS @@GS@LD &LD@GU)GDLJ LeTerf)

_ R . g

((@\) bz;mmau;]m, -&,gja;emﬂ - QFELIWYLD LIGRTL miser LOOMID Lefsar 5653)
7)) weaflg alflmuu

Utility means

(@) Total value of commOdl"“}’C
Desire for goods and services h de mand and supply are equal

)
(C)) Equilibrium point at W hich f goods and services

(d) Want satisfying capacity ©
3. m&rGeunr er§sw T 75 cgl,&ﬁum' a.irenlo efleney 372 25| &G}TG‘T@ erafle,
5@ leveuiener Srams.
(1) 447 (<) 50 (&) 375 () 474
Given the consumer’s surplus is ¥ 79 and the actual price is ¥ 372, find the potential
price.
(a) 447 ®) 50 (© 375 (d) 474
4. THES sMyenil sWSTL LIHDD L FUTEGLD (pSeur 6Tt ) SADPLESLLIHE DG ?
(<=1) Qg,rrg@leuemm%'l(’éum'r (<) epagerd
év@i,) haanggu.urrmrr () e
ic factot is called the changing agent of the society ?
(a) Organizer .
(c) Labour (b) Capital
(d) Land

5. Epssam_eupmer T8 Do o
(1) U uSLILED i éﬂmu@u-'a’l-l Sjve ?

(8) Geop <efiy %) Quibensufer QsrenL

Which of the following jg py . 2 chay ) Quiigh sammwoumwug
(a)  Heterogeneous aCterlsth of Land ?
() Its Limited Supply (b)  Gift of Nature

(d) It is Mobile
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atB=1 gHLuOBeugy .

(1) eueriihgy Qaed g elenerey (cgp) L0 @
. 6w

(®) eonpg Qse eflg afenaray () gei®

a+B=1 refers _

£ eheneTe,
,ﬂ)"ﬁaﬂ &

to scale
- returns
(@) Increasing returns to scale (b) Consta“t

(¢) Diminishing returns to scale (d) Non€

syrefl wrob AFweyssTer eumiiur@ —

(1) TFC/Q (<) TAC/Q @) ¢/ () TVC/Q
Formula for estimating average variable cost. (d) TVC/Q
(@) TFC/Q (b) TAC/Q (©) TC/Q

QUTHSHIS

(1) GeueflliuepLwirar Gsoay @) I QFevey

(2) edemihs Gewey () Qauafls Gseoy

B) gupss Csaay @) LAwrHo Qeeway

(4) eumilys Qswey (iv) wemr GlFoaey

(@) (1)-Gv)@-@ ©@)- (i) @) - @
b O-Gv) -0 ©)-@ @ -
© (1)-G@) @ - ) @)- ) @-6
@ (- () -0 -0 (4) - (id)
Match the following :

(1)  Explicit Cost (@  Book Cost

(2) Implicit Cost (11) External Cost
(3) Social Cost (1_11) Transfer Cost
(4) Opportunity Cost (iv) Money Cost

@ @-)@-0 ©- (i) (4) - (11)
b 1)-G)@-0 6)- (i) 4 - (1.11)
© ()- @) @ -G eE)- (iv) @) - ()

d) (1) - (i) 2 - ) @) (@) @ -G
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508 SDWPEILGSS e

)
> Beneep Gy (<) @irefin i Qaq
() Geq erid. et )
. B¢ () Gggrem ymQenaan
(Q) wriage
' rition was propounded b
The concept of impvrfm‘t compt o (b) Irvin Fish y
isher
(@)  J.M. Kevynes &
) (d) Joan Robinson

(¢)  Marshall

0. Qoai  gppheooda YFHEPTE UDAIL saprer g pans

SET(HIL9g &Eseyld :

(=) 2 puss e ks GaupuB1>-

(<2b) Siauiaer sisser o HUSS LETLSIDG <fs wmuib GQugid QurmL @
aflepavenws [liremrudLinif. |

(B) pa@ars oflpuamanurar@L C‘éurrl'_qurrmrﬂa'n Coréan  whmb
Qewdur@samer wuyawwns SBBSGLLmT,

(F) Qﬁ]ﬁb.umm Qgrifurer SdaSSaib @ rarE &Sl L1 6v @i mer (1 b
2 Lerumr(® e muu.

Identify the wrong statement about the features of Duopoly.

(@)  There is product differentiation,

(b)  They fix the price for their product to maximise their profit.

(c) Each seller is fully aware of hjs tival’s motive and actions

(d) Both sellers may collude Tegarding the sale of commodity

-~
11. ‘@i 2 Hud  olUpa
f;réjgu?;gbif?a:; BUUBSS S e o 2aplurel gar uamleow
(1) cori bégid longs LigmGio SEOTGD’ eTad Sadieuir :
9 ) UTEET (e:%)to' :
Tage) (®) fssmiGLr  (F) Quenapmid

“Wages is a sum of money paig
services rendered”. - Wh, said th.lln
Is

(a) Walker (b)

der contract by an employer to a worker for the
Statement 7

Marshay :
(¢) Ricardo (d) Benham
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- Qgmmflug,
@pPu @ruidQar apgelier Wi-Fi ausglent f@
() QuiisEn®m () Qocienan (@)

.lwa
The first Wi-Fi facility was provided by Indial Ral [hi (d) Mumbaj
(@) Bengaluru J (b) ke

:@051 (") ey

g in

-

Chennai

WESET AHTS DL iTHE eramLig) -

() wE&ET AgTens / @A L Hleo 6T
() wEseT Ggrens / CeuaneveumiiLiLy

(R) Pogden iemey / wés6 Qgrend

() HosHer ey / CouanaveumiiLiL
Density of Population=

(@) Total Population/Land Area of the Region
(b) Total Population/ Employment

() Land Area/Total Population

(d) Land Area/Employment

@pdwreder e Lpawwrer Quilu erailomar Qg miflev

() eroe® (<) HAvar_ (@) uGSS (/) gamra
The oldest large scale industry in India is .
(@) Steel (b) Cement (c) Cotton (d) Jute

LenafiFeRrLmDd pHSTETHS SHL ST !
(1) 2007 - 2012 (<=4,) 1997 - 2002

Twelfth Five year plan period .
(a) 2007 - 2012 (b) 1997 - 2002 (©)

(@) 2012-2017 () 2002 - 2007

2012 - 2017 (d) 2002 - 2007

2 @5 Sereiler @bHw 2-DUEB9S 1gQLfL 2 HUSSwreTTe
eeriu @& TG
(1) QuL_CGrmev (%) le &6 (@) LDk g 6y (IT) gmg;u)
India is the largest producer of in the Worlg
diesel '
(a) petrol (b) diesel (c) fruits (d) gold L
[ S / Tem o
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17, ‘@pdun Hymonsafld & (<) J.C. @wriiur

(<) V.KR.V. gré (FF) gReuanreme GCm(m
(@) wangwor sipd .

‘India !,'WS in Villages’, said by— (b) J.C. Kumarappa
(@)  V.KR.V. Rao (d) Jawaharlal Nehry

(¢)  Mahatma Gandhi
8. aaug A wpp> GO Heusrils@rss s d wHYD G
e sallsamer eupmiGaga o> TS @Llrr@errrrg,rrggmg CobuEss

SDOWESIUL_L @,
(@) SHG (FF) NABARD

(1) MUDRA eurisé) (2,) RRB
are set up with a view to develop rural economy by providing credit and

other facilities to small and marginal farmers.

(@) MUDRA Bank (b) RRB () SHG (d) NABARD
19. Spssam_eupmer seupran @amen aTg) ?
(<21) SAIL - Gase1d
() smdM(WYES allesd@lmnl &b - Gemubyggi
(@) BHEL - '
. Slmad
(/) Qeemeren_seflen B&TLD - &
Which of the following is wrongly matched ?
(@) SAL - Salem |
(b) The Pump city - Coimbatore
() BHEL - Trichy
(d)  Knitting city - Karur

20. 2 2
(s G,Dﬁfaﬂan sanflg PODaag, . '
TP weur 7 Hwenu®higgl Clummefwe &(HS ) S&enern
(=) G. Algmor
(@) & el QL”;'I}
The first person to appl
P
(a) G. Crammer ! mathema .

Sir Willi
(c)  Sir William Petty (b)  Paul Samuelson
(d) Giovanni Ceva

(=) uréd srpCoudaen
(FF) Gwimeurefl Qaeur

C :
2l method to economic problem was
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. UGS - u/PARrr—“aJ,m@év cflanm erain 30 -5
ICBRIL 7 elennss@nie efenwiafsald: <
SL_L_TWLoNg a&]em,.umﬂe’nssmlb.

Answer any seven in which Q. No. 30 is compuls®™Y’
61]619'7““
shall-

7x2=14

915583@-|Lb'
QOSATL orTegellanig msiGourt o Lflew
Detine Consumer’s Surplus according to Alfred Mat

ePRGEWD CF@eysET arammime) eraman ?
What is meant by Sunk Cost ?

@eurrug,@én'r QUENSSHET WITenel ? BjeUbHenD cfaTH &>
What are the kinds of profit ? Explain them.

. . ) e ?
‘;f,]g <, CWITS eTammed eremam ? S\ LiGwf1&eT wimen
What is NITI Aayog ? What are its functions ?
. HLIGEDET FamIs.
wperGamplu Gurmertgrysden erCoepyid HTEOS Quet] N

State any four features of developed economy-

s oL Hmbull QuYSE - aempuYESaD-
Define disinvestment.

@yens Qamfleder ApLidweoysefie FGae@d QTenTi.ene 83&@183. |
Define Cottage Industry. State any two characteristics of cottage industries.

Ll srilSE erenmmmed erement ?
What is crop insurance ?

A=( 3 4 ] erem Hewhulest oaN&ECaranc WEHLIL STeTs.
10 -2 ‘

: : 3 4
Find the value of the determinant for the matrix A:( 50 2} .
10 -

SO Ig 6o saflo auerisat GHSS A0l GHLY auanys.

Write short notes on mineral resources of Tamil Nady_
[ Hous /T
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31.

32,

33.

9Cseib 7 cflaés@HO e wellssaib. saipfler elarr erar 40 -
U 7 eNemrésE@O

: i i : 7x3=2]
sCLmub afle wellesel? v .

Answer any seven questions in which Q. No. 40 is compulsory.

Derefiue wHpw cufue® Qur@dellugnsE @e L Cuuwirer Caugur@ser
wreneu ? . '
What are the differences between Micro-eCOnomics and macro-economics ?

waflg eNmUiukisefen @w@mu$ mlS.

Describe the features of human wants-

Qer@ssiiur L o amandd Ul L @ndhama 2 Huss, srmef
2 DusHlenw sempidyss.

LD LD Qs Boifleow |srre e Husd

eercf@ahar | o puss 2 Ui
S V@Gser (L) (TP) (MP) (AP)

1 2 2 ?

2 6 4 3

3 12 ? >

4 16 ? ;

> 18 ? 3%

6 18 0 3
’ 16 2 2.8

Find out th issi :
ind out the missing Marginal Prodyct ang Average Product for the given table.

Units of Variab
| Bacton 1 le TOtal(;r,;)dUCt Margir;;i IIJ’)roduct Averag: II:mduCt
; 2\ > ( : )
3 : 4 3
;; 2 ? ?
5 —f T 7
6 SN R X:
18 — : :
7 T s 0 3
=2 2.28
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amiuyé deoeen er@®sgdam (e eenrum-
Define opportunity cost with an example.

: . Y-
aurtiGGaurt whpifieno (Monopsony) erempred & e
What is Monopsony ?

Qupens euatusaflen cuamssar wrenel ?
What are the types of Natural resources ?

MUDRA aumifludlen Crrésmisamer LiLigwiedhi.
List out the objectives of MUDRA BANK.

sOPBT 561 poiafssiemy warGamppin upd elefl

Describe the development of Textile industry in Tamil Nadu.

16x—4=68+7x eranmmmed Coeneuwiere| x LDQ['JIS]GU)G&T Efféiai-

Solve for x quantity demanded if 16x—4=68+7x.

aumrsdH@, Cure aurysdnEb 2 drer CaumurHEmeT 6r(PSeyLb.

Differentiate between Rent and Quasi-Rent.

u@d - IV/PART - IV
SieEE aTEEEHEGED elleLeflEsayb.
Answer all the questions.
2 HUGH eumiiliL] euaTGam e & Q& mewr(, Qummer
Grésenansener afleufl.

ALY

7x5=35

THTTSSH 6T 3jiq LI L

BB g 61 QuTgISSHI®D CursGaursg Ppu9eney aﬁ]méS@a;

Explain basic problems of the economy with the h91p of Prg
OR

Explain the public transport system in Tamil Nagy,

WWW.QB365.IN

duction Possibility Curve.
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2. Csaay Sl ﬂ,m,“n_})@“/d" ﬂglﬂJfﬂ&a;mm_
PN
A& reller aurpd (Egnl.ll.llrl;ﬂ;’;— :S§Q$5NL®L637 aﬂmfﬂé)asmm,
Explain the law of demand with a 136 Ol.{

, ent.
Hlustrate the Ricardian theory of R

B 50 warey 2 pusHS a6t LETHEDET QUDTULS&IL 6 eflaufléseyib,
S(6V60
§Lﬂ{9,ﬂ‘,m'_q6&r Qg mifled Q&ns8l - aflaurfl.

Describe the properties of Iso-quants with the help of diagrams.
OR

Explain about the Industry clusters in Tamil Nadu.

4. voCaipul L el ﬂm@mﬂ@ AR wmmiw MR Car® & emaden L Cuiwimer

Cgm_feny efleré@s.
SV60g)

P=35-2v-x2 oy 5a1b Coemar 1, eremmia 3 i - 3
o Ll ereiran » S 0 &l 5 s enwGleie BSTCouri

Bring out the relationship between AR and MR curves under various price conditio
ns.

OR
If the demand function is P=35- 2
consumer’s surplus ? 2r—x2 and the demand Xy is 3, what will be the

STHE WL G]urr@mrrgsrmés G
Explain the features of Oligopo]y

OR

Write a brief note on the Gan dhig
N economie i
mic ideas.
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o AL
uenils curkidser GaAwiowiordsliul_ L gen Gprs®
260608 . a1 (ICT) erg
. & ol UG T

Qun‘@aﬂtusu glewmud 6 5566 Qﬁﬂ@‘b@l’um '
HUSTUBSSLUES drpen ? :

. . a .
Explain the objectives of nationalization of coml'f‘ercm1 b

OR Techno1ogies (ICT) used in

How are the Information and Communicatio®
economics ?

fpuy Gurmarngry weir_wmmseflar (SEZ) gprsm s, HETHEDALD
eSlens@s.
JEALNMY
2EMTES FLGNHEHEHTET HTTERTRGEDET 2y, [TIS-
Explain the objectives and characteristics of Special Economic Zones (SEZ).
OR
Analyse the causes for Rural Indebtedness.
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